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(1) Zdfri(v) VTHOERIZED v =9 %
(2) Bl A58 (m)
0. 85 1
al= 8.0 = 1.16 a2 = o 50V = 1.22
100 100
m = a2 X SL = 1.22 X 24 = 29.3 N/mf
YoT m = 29.3 Nmt
(3)/kEA L FEE(W/C) m = -14.0 + 25.4 X C/W
W/C = 25.4 =+ (29.3 + 14.0) X 100 = 58 %
W/C = 58 %
(4) HpKE (W) WTIEOFEEICELY W = 157  kg/m
(5)HAIE AL FE(C) C =W - (W/C) X 100 = 157 = 58 X 100 = 271 kg/m
Cv= C + g = 271 + 3.02 = 90 2 /m
(6) 2558 (A) A = 4.5 % X 1000 = 45 2 /m
(7)) EM*E(s/a) MTHEOFEKICEID s/a = 44.4 %
(8)HNMIEME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 708 X 44.4 % = 314 ¢ /m
S = Sv X EWEE = 314 X 2.62 = 823 kg/m
SI = S X 80.0 % = 658 ke/m
S2 =S X 20.0 % = 165 kg/m
(9) BHALHEM £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 606 = 394 2 /mi
G = Gv X EWEE = 394 X 2.66 = 1048 kg/m
Gl = G X 36.0 % = 377 ke/m
G2 =G X 24.0 % = 252 keg/m
G3 =G X 40.0 % = 419 keg/m
(10) BN EFnA & (Ad) Adl = C X WNFE = 271 X 0.8000 % = 2.17 kg/m
Ad2 = C X ML = 271 X 0.8000 % = 2.17 keg/m
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